Class Worksheet 3/31/22 - Solutions

Example 1:

Write / fdA as an iterated
R

integral in polar coordinates.
NOTE: Enter eract answers.
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Example 2

0

Convert the integral f
-5

evaluate.

NOTE: Enter exact answers.

/

V25—2?
x dy dzx to polar coordinates and
V25—x?

The integral in polar coordinates is
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| dr df
NOTE: Enter the exact answer, or round to three decimal places.
Solution: Yy
By the given limits —5 < x < 0, and
V=25 — a2 <y < /25— 22, the region
of integration is shown in the figure.
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In polar coordinates, we have:
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Example 3:
Which of the following represents the integral of the function f (x, ¥) over the given region?
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Solution

Acircle is best described in polar coordinates. The radius is 6, so ¥ goes from 0 to 6. To include the entire circle, we
need @ to go from 0 to 2z. The integral is
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/ / f(rcosé, rsind)rdrd6.
o Jo



